EARAROBEEIERT — 2 N— IBISH —F

2014537280 (&) 27EEHE4H

mﬁi—'\'é AEB2DNEbZ=EHNhide 8 HFFR3K ‘ (X4l W ‘ (5] — | 4 (4) 0800N &
[A&4]1%:210,00F ~ 23#%:3800MH ~ 3#&:1500MH  4#%:10,000H / 5&%:0M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— e N KB = :50. - . — ROHEE (BHE)
ilglgl 7 rtT=x it 3 K o&))z 1-1 36.8 2 :(;7) o
LFFHRFFLT BTAFYT HET7— L
3, . 4t 3 | MRS 0:50.8 2-2 37.0 — 1 422 | IUIRAIRR (BHE)
2/8lg| ¥RYERE— 54.0 3) (1) | At
R:29)—>e—0O— B:77Y3y hFa— HET77— L
UL it 3 | FAHRE 0:51.4 3-3 37.1| — 4 397 | BHEH (BEE)
k3| I/ TvE— 54.0 @ Co | ) Fr-xbEva>
RNAT ==L B:d-NFrIt—Fa—> Il g—
- 4 3 | ANEEAIAE 0:51.9 3-4 37.6| — 6 378 | #LEGE (BEE)
4f7|7|7=v7 54.0 (2 1/2) (va) | FILEA
R:TH AT Ly h— BU—RAT 2]zl et
ST RBEREZ :52. = . — FLEE (BHE)
s o | hFEYLN it 3 =5 0(522)3 3-5 37.8 5 (3_(;8) ¥ﬁllll_§i
L:ALNTyTFIE B:XIHICTLR BRE Ih#
¢ # 3 | SHEKX 0:52.5 6-6 37.9| — 3 454 | BETIR—F (BEHE)
6 N 4 LAINT 2 —L 54.0 (1 1/2) -7 WEAE
RiYR=owT T L BTFT/ INT 5
= i 3 | BRAE 0:52.9 7-7 38.3| — 7 488 | EThEIA (BEHE)
d s &k 54.0 @ g | B Tr-zbEYa>
LALNTyTIVE BiAyIRIy T Iz @Rl
=3, 7 # 3 | ALE— 0:53.0 9-8 38.0| — 8 405 | REBS (BHE)
8|55 |F7¥X> 54.0 (3/4) (-5) | BIHEH
LT RIA4Y3y IR BiJ1Ey RA4X= BpEEUE e
= 53 ft 3 | BHFA 0:53.3 8-9 38.3| — 9 446 | EHSEH (BHE)
9|1[1|TLFRIR 54.0 (1 1/2) ) | EBRIX
RHATAT v — B TY—FF ) — () #HBI-—KL—Ya>AETy
® I—F—@EBIERL
13—-7-
23—7F—
T =35r= 8,9,(2,3,7),4,6,1,5
41—F— 8,9,3,7,2,4,6,5,1
[ N5
B 8 220M 794K 8-9 150 & 8-8 200/ &R 3-8-9 330M
# B 8 1004 3-8 320 B E 8-9 230 EE 8-9-3 1,260
9 1004 3-9 170H B H 8-9 400M
3 110/

ABICOVWTRDTEEERROODE. TR LIV,




